This Robot is a martingale type of robot which utilizes parabolic sar as entry and exit points on the 15 minute chart

BUY TRADES

The Robot enters a buy  trade when parabolic SAR signals a buy trading opportunity using SL=0 and TP=20

Scenario 1 
the trade reaches tp 20 without a change in the signal of parabolic SAR

Scenario 2 
The trade goes against us and the signal of parabolic SAR changes to sell

In this case , the robot holds on to the trade  until parabolic SAR once again signals a buy, then the robot opens another trade  with a larger lot size  using SL=0 and TP=20

The robot continues to open new trades with larger lot sizes when new parabolic signals are found until TP = 20 is achieved 

NB once a trade achieves TP=20 then all other trades are closed automatically

AND VICE VERSA FOR SELL TRADES

THE  EA SHOULD BE SET TO BUY ONLY OR SELL ONLY

Money Management

	1000 usd

2000usd

5000usd

10,000

12,000

13,000

19,000
	0.01

0.02

0.05

0.1

0.12

0.13

0.19


The table above shows the lot size of the first trade of every series

The formular for the trade size of subsequent trades is 

Drawdown of the latest trade / 30 ( 30 is the divisor in this case but divisor can be changed)

For example if the last trade placed by the robot is down by 65 pips then the lot size of the new trade will be 65/30, which is equal to 2 (remainders are discarded)

Assuming the  actual lot of the last trade is 0.02 the going down 2 places will be ( 0.04 and then 0.08) so the lot size of the new trade will 0.08

This lot size calculation is to ensure that a TP of 20 will be adequate to close all outstanding trades in good profit 

NB if the drawdown of the latest trade is less than 30 pips  then the size of the new trade  will be the same thing as that of the latest trade

Please code the robot and send me the first one as soon as possible

Thanks 

